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<Abstracts>

This paper examines the effects of information telecommunication {IT) capital and R&D stock’
variaion on the growth of Korean industry, using a time series approach. Most specifically, we
apply the Granger causality and impulse response analysis to our examination of Korea's
industral growth, IT capital, and R&D stocks. The Johansen co-integration test is performed in
order to analyze long-term relations among these variables. This research explores the way in
which IT capital and R&D stock’s variation from economic shocks affects the growth of Korea's
industral sector. The effects are ambiguous, however, across industrial sectors. An impulse
response function analysis shows that the effects of IT capital and R&D stock fluctuations in

each industrial sector are presented for different time periods.
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